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Additional Exercises

An economy produces four goods: cotton,
milk, wood, and clothing. The cotton
producer sold cotton to the clothing
producer for 1000 monetary units. In turn,
the clothing producer sold the final
product in the market for 2300 monetary
units and purchased milk for his family for
900 monetary units, and wood for 200
monetary units. Calculate the Gross
Domestic Product (GDP) by all possible
methods."

An economy composed of three sectors (A),
(B), and (C), in addition to the household
sector. Sector (A) utilized imported raw
materials worth 1500 MU to sell 4000 MU. It
sold 40% of its production to sector (B) and
60% to sector (C), both of which produced
5000MU each. Sector (B) sold 60% of its
production to local investors and exported
the remainder to the foreign market, while
sector (C) sold 80% of its production to local
consumers.

1. Calculate the total value added and the
Gross Domestic Product (GDP).

2. Calculate the Gross National Product
(GNP), given that the net transfers of
national and foreign production factors
amount to 90 MU."
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